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Al 15,000

SR AXEAIY FEIH 65,000 0 65,000
< 32,500
Al 32,500

401 Al HI & 28I 65,000 0 65,000
< 32,500
Al 32,500

01 A& HI 65,000 0 65,000
O AXBAIA FHAY 65,000
< 32,500
Al 32,500

el 208 2434l 180,000 0 180,000
< 90,000
Al 90,000

402 RIZEX20| A 180,000 0 180,000
< 90,000
Al 90,000

02 DIt EAILS EZ (OIS ) 180,000 0 180,000
o&de ZUd 2=+=84l 180,000
< 90,000
Al 90,000

7 QAT &@& I A 70,000 0 70,000
= 35,000
Al 35,000

402 RIZ2HXt20l ™ 70,000 0 70,000
< 35,000
Al 35,000

02 It 2 AL EZ(OI X TH ) 70,000 0 70,000
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2N
X ZH -
L= B

el

23
AA 2R BEEN BS
ZotF 4 BEFH|

A - ER(EN) - AR - B of & o4 SSa HIDZ2
272 23N 2+=3H| 130,514 107,665 22,849
101 212 8| 54,449 34,965 19,484
04 JIZtNZ22XNSE+ 54,449 34,965 19,484
O4An2 23t S3&H 212 54,449
-Jl2s 70,0008 = 38 = 180« 37,800
-Ra52=+8 70,0008 = 3% * 180 /5 7,560
PN = 70,0008 * 3H » 6 1,260
- =4l 5,000 = 3%  180€ 2,700
—4HEE= 46,620,000 = 11% 5,129
201 2Bt Yl 5,565 2,200 3,365
02 5524t 5,565 2,200 3,365
Ou=Jl &L 1,600 = 3004 * 3H 1,440
OBIJH FHI(KEI S)48 L HHRLY
200,000& 304 = 6E 3,600
oMgIIsE7Y 3,500 = 150& 525
401 AIEHI L 2 CHYI 70,500 70,500 0
01 Al&HI 70,000 70,000 0
Oaxr2 2 E=ZHISA
5,000,000& * 1090 £ 50,000
O2stM&els& CCTV E+3 At
5,000,000& * 40§ & 20,000
03 Al 2 THHI 500 500 0
O4Ln2 2= E+FHISAF AL R0 YI 500
AEI 2tel 464,234 477,149 A12,915
101 1244l 317,637 329,427 211,790
04 D12 H22 TS 2= 317,637 329,427 A11,790
OJIZtMZ22 X 24(1802 0l4) 5,063
40 2EEE(0DE,&M)
178,251,000& * 2.84% 5,063
OJIZMZ22 X £4(1802 0I2H) 2,288
-4 BEES (NS, &)
80,561,000& * 2.84% 2,288
OAHEIl ditate] 2 205,317
-Jlza 66,800 = 138 * 170 147,628
-RsF¢+E 66,8008 » 138 * 170€/5 29,526
—HURSFIH0MNESE
66,800& * 13E * 9E 7,816
-40 282 184,970,000& * 11% 20,347
OAPRXl a&gtae| 2y 17,487
-Jl2= 66,800% = 38 * 63 12,626
-R85€=+¥ 66,800 * 3% * 632 /5 2,526




M 23
Bu: o\ 2sin4 BED B8
& 2asL EEFH| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-/ IOIAEE
66,8003 = 3H » 33 602
-4 B8 15,751,000& * 11% 1,733
OAMEX 2 MEHI(H =DM =)= 87,482
-Jlas 70,000& = 59 » 180¢ 63,000
- ReEsgsd 70,0009 * 5% « 180 /5 12,600
- RSFIH0ANESE
70,000& * 5% = 9F 3,150
—404 B2 79,380,000& = 11% 8,732
201 LBH2E| 99,577 98,482 1,095
01 At 2t 2l 30,142 30,042 100
OL=ZHE S8+ Az 2
20,0003 » 18 A 360
oMgIs& 7¢ 3,700& * 3% * 365¢ 4,052
O+t 11,110
-H&EH, StlF S 1,000,000 * 63l 6,000
-SHEX(HEE) 7
2,000& = 701 = 365¢ 5,110
OFs%4s *¢ 50,000& * 3J A& * 23] 300
otER=EE 30,000& = 12& 360
OAETI el dRF8 ZAld|
8,000& = 2% = 180¢ 2,880
OALE Xl et & 238 M 1003 = 30,0000H 3,000
ORQEoAIAE 22|l & 2HZZOY 9
400,000& = 123 4,800
O&F=I AIB=Z 45,000 * 204 = 128 1,080
OzJl gxz 550,000& = 43| 2,200
02 =24l 69,435 68,440 995
Osags =8g 15,000& = 301 » 12& 540
OHIIRS 2,200,000& = 12& 26,400
Ouot=ER3 1,200,000& * 128 14,400
O83x =HE 500,000 * 7oA 3,500
OxXt& =Xl 100,000& = 1CH » 123 1,200
O48 LEH0l | XIHl  400,000& * 1CH = 23] 800
OAIZE etUE M 1,000,000& * 3JH £ 3,000
OHixl & mtnet = 4,500
— A A BRI WA 2,500
-JIEt &2=2 nHl = 500,000& * 404 2,000
OMSHEAI2 A =84 500,000& = 23l 1,000
OAstd B B 2 MIIAE =
500,000& = 7CH 3,500
OLAZAIE 7 1,000,000 =+ 33l 3,000
ONM=ZHl =&t 1,600
—-S84 ORI 500,000& = 13l 500




& 3H At
A 23R EED BE
Fotsa BEFH (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
-8 ORI 300,000& = 23| 600
—M=2 =4 100,000& * 54 500
O88 YK, 48 2LEHI0l, W= S)
1,598& * 2,500£ 3,995
OO0AF 2 Y 250,000& = 83| 2,000
206 M= Hl 24,700 44,700 20,000
01 =8l 24,700 44,700 220,000
Og & dHE <435 ¢ 3,000
o&tlE H=d 7 1,500,000& * 23| 3,000
oxZd&8 =38+ s ¢ 3,000& = 1,000= 3,000
OMAEI A2 =88 I 2 UM 2
500,000& = 12& 6,000
OFEIANE 2228 & UM 2
400,000& » 12& 4,800
Oxd&g NMXNE=S) 7 7,000& = 5004 3,500
OoOxZd&8 XM 7¢ 350,000& = 43| 1,400
401 Al BIZ 2018 20,000 0 20,000
01 A&l 20,000 0 20,000
O4+2%2 AU S HENY
0,000,000& = 13l 20,000
405 TtatF S| 2,320 4,540 AN2,220
01 &L ESFHSHI 2,320 4,540 A2,220
ogoteg #»4 550,000& = 14 550
oss&tI 2 1,000,000& * 1CH 1,000
Ol =2l 2 770,000& = 10CH 770
Zolgs =2 2l 30,000 20,000 10,000
401 A& BIZ 201 8] 30,000 20,000 10,000
01 Al H 30,000 20,000 10,000
Odolled =22 A2l 30,000
=t HHEXAIAE 2SALS 10,000 10,000 0
= 7,000
< 900
Al 2,100
201 LB-2d | 10,000 10,000 0
= 7,000
< 900
Al 2,100
02 8323l 10,000 10,000 0
O3 M THEEXAIAE REALY 10,000
= 7,000
< 900
Al 2,100
23 THHOrE 2| A (g L& 010) 214,286 0 214,286




2N
X ZH -
L= B
el

23
AA 2R BEEN BS
ZotF 4 BEFH|

SA-Z3H-SH2A(3AH) - A
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0l &t o
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= Hn

150,000
19,286
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401 AIEHIZ 2 THHI

= N H

214,286
150,000
19,286
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214,286
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SHAH THHt ot ™ 2el ALY

= N H
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166,120

50,160
115,960

284,900

A 118,780
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f
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166,120

50,160
115,960

284,900

A 118,780
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14,400

284,900

A 118,780




M 23
Bu: o\ 2sin4 BED B8
?e?: S22 BEE 2 5 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 7,200
Al 7,200
O RE23M EREH SHA A
2,200,000& = 2JH EHXl 4,400
= 2,200
Al 2,200
Ok SE23M SHEAHI(OHQ!)
1,520,000& * 14 1,520
< 760
Al 760
odd =Al Sttt 22,000
Ogotet 284, H3Hs X2 25,000
HERst 22 ¥ dSHe N (HE23 85 106,160 107,900 21,740
SH - EE)
307 21201 A 100,980 107,900 26,920
02 HAHFHAANGEEE 100,980 107,900 26,920
Ogn &,=8 Hdl 6,000,000& = 23l 12,000
Ogw |1 wsHl XA 4,750,000& * 23| 9,500
Oguw e & ddxrzs WIH X2
3,850,000 =+ 23l 7,700
Ogn JI24 Izl XI&F  5,500,000& * 12/ 5,500
Ogn et XA 9,500
O+=2E sdd 2eldl XN
2,500,000& = 43| 10,000
OAtEEt 2eldl X 4,500,000 = 23l 9,000
OArS = Heltl 4,500
Ot ® 2eldl X 300,000& = 12& 3,600
O&4tol E Hialbl 1,440,000& * 13| 1,440
Od=0 M2t 2eldl XI& 200,000& = 12& 2,400
O S A Ml 1,440,000& * 13/ 1,440
OE=SM& 2e2ldl XI& 1,750,000 * 43| 7,000
OESMH&3 &dl 1,440,000& * 13/ 1,440
ONZ 2=z L@ 2oyl X
1,500,000& * 23] 3,000
OZATH Myl 1,440,000 * 13l 1,440
O Lit =& Hdlbl 1,440,000 = 13l 1,440
OFE™ Myl 1,440,000& * 13l 1,440
OF22 Hdlbl 1,440,000& * 13| 1,440
O&dEM& Hdldl XI& 1,440,000& * 50 £ 7,200
402 QI2H X201 M 5,180 0 5,180
01 2IZE 2 AE B (KM ) 5,180 0 5,180
Ogn gl 2¢ 3,360
Ogn dxH ¢ 1,820
HENELEFYAY 969,000 0 969,000




2A: 23
HE: A SN B2 22
Sl NESH BE L MBS CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o ﬁlf& HD=2
= 484,500
== 242,250
Al 242,250
402 Q12+t X2 0| & 969,000 0 969,000
= 484,500
== 242,250
Al 242,250
02 BIZtXIEANYEX(0OIETHS) 969,000 0 969,000
OolSAl BEX(E8A X8 L A524) 180,000
= 90,000
= 45,000
Al 45,000
OSY A STHAIAE 2= 147,000
= 73,500
& 36,750
Al 36,750
O YMAIAE 25 147,000
= 73,500
o= 36,750
Al 36,750
OdX STAIAE 2= 137,000
= 68,500
& 34,250
Al 34,250
OEXIAF ETHAIAE = 147,000
= 73,500
& 36,750
Al 36,750
OFRHEL STWAIAE 2= 211,000
= 105,500
== 52,750
Al 52,750
23 OFs At 320,000 400,000 A 80,000
= 160,000
= 48,000
Al 112,000
307 QI2t0| ™ 320,000 0 320,000
= 160,000
= 48,000
Al 112,000
02 AI2tAAMAIEE =X 320,000 0 320,000
O23tM orsl 320,000
= 160,000
& 48,000
Al 112,000
HMEAMNE BLHEIAMY 30,500 30,500 0
401 Al HI L £ 0HHI 30,500 30,500 0
01 A& HI 30,000 30,000 0




M 23
HE: oA SHRN BEDN B8
Celr HESS BE U MBS CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O EAE E+=FH| 5,000,000 * 6 A& 30,000
03 A& =2 THHI 500 500 0
ONdSAE EFHIAE AIE =20 500
HdEAME SMMALE RIAES 34,104 36,996 22,892
= 17,052
< 5,116
Al 11,936
401 AIEHI L 20HEI 34,104 36,996 22,892
= 17,052
< 5,116
Al 11,936
01 A& Bl 34,104 36,996 A2,892
OZMAAE SXAE+(4HA 222, 20tHAt,
IR, s2) 34,104
= 17,052
S 5,116
Al 11,936
MMBEI ALY 75,000 0 75,000
= 30,000
< 13,500
Al 31,500
307 2201 A 75,000 0 75,000
= 30,000
< 13,500
Al 31,500
02 It HAHE L 75,000 0 75,000
OMMESI EEAY 75,000
= 30,000
< 13,500
Al 31,500
A DIESHAHOIEHUS SH) X 4,000 0 4,000
= 2,800
Al 1,200
307 glz2+ol & 4,000 0 4,000
= 2,800
Al 1,200
02 It A AHEE 4,000 0 4,000
OXARAe QISSAHOIBUSR SH)XH 4,000
= 2,800
Al 1,200
S A3 20,000 20,000 0
2 &7 20,000 20,000 0
201 Let2d ] 20,000 20,000 0
03 & At2 Gl 20,000 20,000 0
O23tM A7 s=U3 Al 20,000




2A: 23
Mz HMSAHH (S3HHD)
gel: o2yl eEH)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
HEHSH A (23 D) 361,134 100,670 260,464
ol 23| 126,924 5,760 121,164
ol 2 A 126,924 5,760 121,164
101 2124 d| 126,924 5,760 121,164
03 RIAHAEZZXE > 126,924 5,760 121,164
ot R2IAHAZZ2 X 2,016
-2 &l 8,000 = 74 » 3% x 12& 2,016
OMEX R2IHAZZ X 3,744
-2 &l 8,000& = 134 = 3H = 12& 3,744
OSBota A& A2 o124 H| 33,129
-Jla2 1,745,150& « 1H * 128 20,942
- nWsS2XH| 130,000& + 1Y « 12& 1,560
- ZHZAH| 130,000& * 1¥ = 12& 1,560
— I Al 76,7523 + 19 » 7L 538
- Y &EFItl
1,745,150& * 189 « 60% *» 23] 2,095
-IIExY 40,0003 * 18 = 12& 480
- ZU22FE
14,3913 * 1 » 20A12t = 128 3,454
—-4HEE = 30,629,000& * 8.16% 2,500
OTYHEI, RIEE 22| 87,135
-Je23 1,745,150& * 3% * 128 62,826
- nWsS2XH| 130,000& » 39 = 12& 4,680
-y HZAYH| 130,000& » 3Y x 12& 4,680
- A X A 76,7523 * 39 x 7Y 1,612
===l sl
1,745,150& * 398 « 60% *» 23] 6,283
—tE4g 480
-4 282 80,561,000& * 8.16% 6,574
OAE X 22 S22 0=l 300,000& * 39 900
| 22Z& bl 234,210 94,910 139,300
Jl23Hl 234,210 94,910 139,300
201 Yet2 | 158,310 36,650 121,660
01 AP 22l Yl 158,310 36,650 121,660
OJISANRES FdHI 650,000& » 12& 7,800
ot 2 AT X #&3 22|
60,000 * 4952 * 404 A 118,800
OJIEt=+=2H| 480,000 = 12& 5,760
OMRIID 228 22 2 %24l
800,000& = 12& 9,600
OsAMEXN 7 350,000& = 12& 4,200

_20_




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OO0kt & S22 R SAHI
550,000& = 214H 11,550
O&8Z S22z 50,000& » 129 600
202 oddl 69,120 51,840 17,280
01 SLHOYI 69,120 51,840 17,280
Ol s JI2gd! &0l
240,000 = 249 = 128 69,120
203 YR =&l 5,580 5,220 360
04 FN2ELSFZTH 5,580 5,220 360
ORNE2Y gR=4H 465,000& ~ 123 5,580
204 MR FH| 1,200 1,200 0
01 ¥R 1,200 1,200 0
OXMg R FH| 100,000& * 12& 1,200
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